Integrated Approach: Grade 3

Properties
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 Look at this number sentence.





5 x 0 = 0





Which multiplication property does it show?





A      Communitive Property


B      Identity Property


C      Zero Property


D      Multiplication Property








Mark says that 8 x 6 is the same as 6 x 8. What multiplication property proves that he is correct??





A      Communitive Property


B      Identity Property


C      Zero Property


D      Multiplication Property
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	Which number sentence shows the Identity Property of Multiplication?





A      7 x 0 = 0


B      7 x 1 = 1


C      7 + 0 = 7


D      7 + 1 = 8
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 Look at this number sentence.





2 x 7 = 7 x 2





Which multiplication property does it show?





A      Communitive Property


B      Identity Property


C      Zero Property


D      Multiplication Property
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	Which of these number sentences is true?


 	





A      6 + 0 = 0


B      6 x 0 = 1


C      6 + 1 = 6


D      6 x 1 = 6
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